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B.Sc. Third Year (Semester -V) 

Practice Test-1 

MAT 504 (ODE-1) 

Note: Tick (V) the correct option 
) Ifa = 4 + 3i, b = 2- i and f(x) = (a + b)x then (Ref) (x) is... 

a)-2 b) 2 e 6 d)-6 

2) 1fa = 4-i,b = 2+i and f(x) = (a + 2b)x then (Imf)(x) is.. 

a)-1 b)1 c)i d)-i 
V 

3) Ifp(z) = (z - r)*(z2 +1) then the root r has multiplicity... 

a) 0 b) 1 c)2 3 
4) Ifp(z)= (2 - r)°, where r is complex number then p"(r) =. 

0 b) 3 c)6 d) 2 

5) If Ø(x) = elax where a is real constant then ....... 

o'(x) + ia@(x) = 0 b) o'(x) -iað(x) =0 

c)0'(x)+ ad(x) =0 d) o'(x)- ao(x) = 0 

6) The series =o z", z is complex , converges absolutely for... 

a) z =1 b) lzl = 1 lzl<1 d) z>1 

7) The solution of initial value problem y' = ky and y(0) = 2 is.. 

a2ekx 

8) The solution of homogeneous linear differential equation of first order is 

b) 2e-kx c)ke2x d) ke-2x 
. . . 

a)cek b ce-kx c)ae d)ae' 

9) The equation y' + ay = 0 is... 

aHomogeneous linear equation of first order 

b) Nonhomogeous linear equation of first order 
c)Homogeneous linear equation of second order 
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d) Nonhomogeous linear equation of second order 

10)If O,(x) and 0,(x) are two solutions of y" + a,y' + (d2y = 0 then so is . 

solution 

a) c^0, (x)+c202(x) b) co'(x) +c20' 2(x) 

c)c01()+c;02(x) d) c,0,(x)+c202(x) 

11) The characteristic equation for the equation y" +a1y' + a2y = 0 is.... 

ar +a1r + a2 b) r-a1r-a2 

c)r+ a2r + a d)r-a1r +a2 

12) The two solutions 0 (x) = e2* and 02(x) = e5 are 

a) Linearly dependent bLinearly independent 

c)Both (a) and (b) d) None of the above 

13) The Wronskian of solutions 0(x) = e2* and o2 (x) = e-3ais 

a) 5e* b)5e c)) -5e d -5e-* 

14) Are two solutions 0, (x) = sinx and 02 (x) = el" linearly independent? 

aYes b) No c)Both (a) &{b) d) None of these 

15) Solutions of nonhomogeneous second order differential equation y" + a1y' + azy = b{x) is 

Dx) = c0,(x) + cz0,(*) + 9, b) o(x) = c,0', (x) + C,0°2(r) + Pp 

c)Ox) = CØ1(x) + Pp d) O(x) = C2®2(x) + Pp 

16) The characteristic polynomial for linear differential equation of order n has degre.. 

a) 1 b) 2 c)3 
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Swcdi Asho Dudhbhode 
Dr.J.A.Nanware, Dept of Mathematics, SKM Gunjoti (March 4,2021) 

B.Sc. Third Year (Semester -V) 

Practice Test-1 

MAT 504 (ODE-I) 

Note: Tick (V) the correct option 
1) Ifa = 4 +3i, b =2-i and f(x) = (a + b)x then (Ref)(x) is , 

a)-2 b) 2 c6 d)-6 

2) Ifa = 4-i, b =2+i and f(x) = (a + 2b)x then (Imf)(x) is ..... 

a) -1 b1 c)i d)-i 

3) If p(z) = (z- r)s (z +1) then the root r has multiplicity.... 
a) 1c) 2 d) 3 

4) If p(z) = (z - r)", where ris complex number then p" (r) =... 

a) b) 3 6 2 

5) If Ø(x) = elax where a is real constant then . ****''*** 

a) o'(x)+ iað(x) =0 b) o'(x) - ia0(x) = 0 

Cx) + ao(x) =F0 d) o'(x)- að(x) = 0 

The series 2k=02", z is complex , converges absolutely for..... 6) 

z =1 b) lz = 1 c) lzl <1 d) lz >1 

7) The solution of initial value problem y' = ky and y(0) = 2 is.... 
a) 2e b2e-kx c)ke2 d)ke-2x 

8) The solution of homogeneous linear differential equation of first order is .... 

acekx 

9) The equation y' +ay = 0 is.. 

b) ce-kx caeC d)ae-cx 

Homogeneous linear equation of first order 

b) Nonhomogeous linear equation of first order 

c)Homogeneous linear equation of second order 
ODE-I 
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d) Nonhomogeous linear equation of second order 

10)If oi(x) and O2 (x) are two solutions of y'" + ajy' + azy = 0 then so is 
also . 

solution 

aero (X)+¢202(x) b) c01(x)+c20'2(x) 

c)cO1*)+c202(x) d) c0,(x)+c20'2(x) 

11) The characteristic equation for the equation y" +aqy' + azy = 0 is... 

a) r+ ar +a2 \b - ar - a2 

c)r+a2r t a1 d) r-ar+a2 

12) The two solutions 0,(x) = e2 and 02(x) = e3" are. 

a) Linearly dependent binearly independent 

c)Both (a) and (b) d) None of the above 

13) The Wronskian of solutions 0,(x) e2x and 02(x) = e3A is, 
.. 

a) 5e b) Se, -5e d)) -5e-* 

14) Are two solutions 0 (x) = sinx and 02(x) = e linearly independent? 

a) Yes b) N e) Both (a) &(b) d) None of these 

15) Solutions of nonhomogeneous second order differential equation y" + y +a2y = b(X)is 

a) O(x) = c; ®, (x) + c20,(x) + Pp b) øx) = C1O,(x) + c20'2(x) + Pp 

c) O(x) = C0, (x) + Pp d) O(x) = c2®2(X) + Pp 

16) The characteristic polynomial for lincar differential cquation of ordern has degre. 

a) 1 b) 2 c)3d 
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Pahelor Goqutami Avinash 
Dr.J.A.Nanware, Dept of Mathematics, SKM Gunjoti (March 4,2021) 

B.Sc. Third Year (Semester-V) 

Practice Test-1 

MAT 504 (ODE-1) 49 

Note: Tick (V) the correct option 

1) Ifa = 4+3i,b = 2- i and f(x) = (a + b)x then (Ref)(x)is. 

a)-2bY 2 c) 6 d)-6 

2) Ifa 4- i,b = 2+i and f(x) = (a +2b)x then (Imf) (x) is . 

a-1 b) 1 c) i d)-i 

3) If p(z) = (z - r)"(z* + 1) then the root r has multiplicity.. . 

a) 0 b) 1 c) 2 d) 3 

4) If p(z) = (z - r)S, where r is complex number then p"(r) =.. 

a) 0 b) 3 )6 d) 2 

5) If o(x) = ela" where a is real constant then .... ******* 

a) o'(x) + ia0(x) =0 b)o'(x) -iad(x) = 0 

No'(x) + a0(x) =0 d) o'(x) - að(x) = 0 

6) The series 2k=o Z", z is complex, converges absolutely for.. 

a) z 1 blzl =1 c) lzl <1 d z >1| 

7) The solution of initial value problem y' = ky and y(0) = 2 is.... 

a) 2e*T b 2ekr c)ke2¥ d)ke-2x 

8) The solution of homogeneous linear differential equation of first order is... 

a) cekx bce-kx c)ae d)ae-cx 

9) The equation y + ay = 0 is..... . ***********" 

a) Homogeneous linear equation of first order 

bNonhomogeous linear equation of first order 

c)Homogeneous linear equation of second order 
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d) Nonhomogeous linear equation of second order 

10) If o, (x) and Ø2 (x) are two solutions of y" +a1y + a2y =0 then so is .. 
... also .. 

solution 

a) c0(a)+c202(x) c01x)+¬20'2(*) 

c)c0()+e202(x) d)c0,(x)+cz0'2(x) 

11) The characteristic equation for the equation y'" +a1y + a2y = 0 is.... 

a)r+ar +a2 b) r2 a1r - a2 

cr+azr + a1 d) ré-ar +a2 
12) The two solutions 0(x) = e2x and 02(x) = e3* are . 

Linearly dependent b) Linearly independent 

c)Both (a) and (b) d) None of the above 

13) The Wronskian of solutions 0(x) = e2 and 02(x) = e-3*is ... 

a) 5ex b5ec))-5e* d)) -5ex 

14) Are two solutions O, (x) = sinx arnd 02) = e linearly independent? 

aYes b) No c) Both (a) &(b) d) None of these 

15) Solutions of nonhomogeneous second order differential equation y" + a1y +a2y = b(x) is 

D(x) = cØ,(x) + c202(x) + pp b) O(x) = c^@,(x)-+c20'2(x) + Pp 

c) O(x) = c0,(x) + Pp d) D(x) = C202(X) +Pp 

16) The characteristic polynomial for linear differential equation of order n has degree.. 

a) l b) 2 c)3 dí 
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otdag Teja2uini hgvant 
Dr.J.A.Nanware, Dept of Mathematics, SKM Gunjoti (March 4,2021) 

B.Sc. Third Year (Semester -V) 

Practice Test-1 

MAT 504 (ODE-1) 

Note: Tick (V) the correct option 

1) Ifa =4+3i,b = 2- i and f(x) = (a + b)x then (Ref)(x) is .... 

a) 2 b) 2 6 d) -6 

2) Ifa = 4-i,b = 2 +i and f(x) = (a + 2b)x then (Imf)(x) is. 

a)-1 b) 1 c)i d-i 

3) Ifp(2) = (2 - r)*(z2 +1) then the root r has multiplicity.. 

a) 0 b) 1 c) 2 3 

4) If p(z) = (z - r)', where r is complex number then p"(r) =... 

a) 0 b) 3 d) 2 
6 

5) If o(x) = elax where a is real constant then ... 

D(x) + iaD(x) = 0 b) 0'(x) - ia0(x) =0 

c)o'(x) + að(x) = 0 d) o'(x)-aD(x) = 0 

6) The series 2k=o Z*, z is complex , converges absolutely for......... 

a) z =1 b) 1z= 1 c)lzl <1 d zl >>1 

7) The solution of initial value problem y' = ky and y(0) = 2 is... 

a) 2e*, b2ek* 
8) The solution of homogeneous linear differential equation of first order is ..... 

c)ke2x d)ke-2x 

a) cek* b) ce-kx úeCx d)ae-Cx 

9) The equation y +ay = 0 is..... **:* 

aHomogeneous linear equation of first order 

b) Nonhomogeous linear equation of first order 

c)Homogeneous linear equation of second order 

ODE-I 
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d) Nonhomogeous linear equation of second order 

10)If 0, (x) and 02(x) are two solutions of y" +ay + d2y = 0 then so is... also . 

solution 

a) cO()+c202(x) b) cd'(x)+C20'2(x) 

c)c(x)+c202(x) d) c0, )+0'20) 

11) The characteristie equation for the equation y" +a1y + a2y = (0 is 
' ''' ''''' '. 

a)r+ajr + a2 br-ar -a2 

c)r+ a2r + a1 d) r-a1r +a2 

12) The two solutions O(x) = e2X and D,(x) = es* are 

a) Linearly dependent bLinearly independent 

c)Both (a) and (b) d) None of the above 

13) The Wronskian of solutions 0(x) = e2" and D2(x) = e-SAis .. 

a) 5e 5e * 

b) 5e* -5e d)) -5e * 

14) Are two solutions 0, (x) = sinx and 02(x) =el* linearly independent? 

a) Yes b)No c) Both (a) &(b) d) None of these 

15) Solutions of nonhomogeneous second order differential cquation y + a,y +a2y = b(x) is 

a) (x) = c, 0, (x) + CzD2(x) + Pp b) o(x) = c0', (x) + Cz0'2(x) +Pp 

c)OCx)= C,0,(x) + Pp d) Ox) = C202(*) + Pp 

16) The characteristic polynomial for linear differential equation of order n has degre.. 

a) 1 b) 2 c) 3 d)n 
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Shoikh Muskan valf 

Dr.J.A.Nanware, Dept of Mathematics, SKM Gunjoti (March 4,2021) 

B.Sc. Third Year (Semester-V) 

Practice Test-1 

MAT 504 (ODE-I) 

Note: Tick (V) the correct option 

1) Ifa = 4+3i,b = 2-i and f(x) = (a + b)x then (Ref)(x) is ... ' ' ' 

a) -2 b) 2 6 d)-6 

2) Ifa = 4 - i,b = 2 + i and f(x) = (a + 2b)x then (Imf)(x) is 

a) -1 b1 e)i d)-i 

3) Ifp(z) = (z - r)'(z? + 1) then the root r has multiplicity.. 

a) 0 b) 1 e)2 

4) Ifp(z) = (z - r), where r is complex number then p"(r) =... 

a) 0 b) 3 6 

5) If o(x) = elax where a is real constant then ... 

a )+iao(x) = 0 b) o'x)- ia@(x) = 0 

c)o'(x) + að(x) = 0 d o'x)- ad(x) = 0 

6) The series r=oz, z is complex, converges absolutely for.... 
a) z =1 2=1 c) lel <1 d) z >1 

7) The solution of initial value problem y' = ky and y(0) = 2 is.. 

a) 2ekr 

8) The solution of homogeneous linear differential equation of first order is............ 

b) 2ekx kE2 d)ke-2x 

acek b) cekr c)ae d)ae-Cx 

9) The equation y' +ay = 0 is.. 
**** '*'''''' **** 

aHomogeneous linear equation of first order 

b) Nonhomogeous linear equation of first order 

c)Homogeneous linear equation of second order 
ODE-I 
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d) Nonhomogeous linear equation of second order 

10)If Ø1 (x) and d2(x) are two solutions of y'" +a1y + a2y = 0 then so is 
**. also 

solution 

ao, (x)+c202(*) b) cox)+C20 2(x) 

c)c(x)+c202(x) d) c0, (x)+c20'2(*) 

11) The characteristic equation for the equation y" +a1y +a2y = 0 1s. 

a + a1r +a2 b)r-a1t-az 
c)r+ a2r + a1 d)r-ar +a2 

12) The two solutions 0(x) = e2X and 02(x) = esX are .... 
a) Linearly dependent Tinearly independent 

c)Both (a) and (b) d) None of the above 

13) The Wronskian of solutions 0(x) = e2 and 02(x) = e-aa is .. 

a) 5e b) Sex c)) 5e* d)) -5ex 

14) Are two solutions Ø, (x) = sinx and Ø2(x) = el" linearly independent? 
LaYes b) No c)Both (a) &{b) d) None of these 

15) Solutions of nonhomogeneous second order differential equation y'" + a1y' + a2y = b(x) is 

e) = c®, (x) + c202(x) + Pp b) Ø(x) = cj01(x) + C20'2(x) + p 

c) O(x) = cO1(x) + Pp d) o(x) = c2O2(x) + p 
16) The characteristic polynomial for linear differential equation of order n has degree... 

a) 1 b) 2 c)3 

ODE-I 
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Dr.J.A.Nanware, Dept of Mathematics, SKM Gunjoti (March 4,2021) 

B.Sc. Third Year (Semester -V) 

Practice Test-1 

MAT 504 (ODE-1) 

Note: Tick (v) the correct option 
1) Ifa = 4 +3i, b = 2- i and fx) = (a + b)x then (RefM) is.. 

a) -2 b) 2 6 d) 6 

2) Ifa = 4-i,b = 2+i and f(x) = (a + 2b)x then (Imf)(x) is.. 

a) -1 b) 1 c)i d)-i 

3) Ifp(z) = (z - r)°(z2+1) then the root r has multiplicity.. 
. 

a) 0 b) 1 c) 2 y 3 

4) Ifp(z) = (z- r)*, where r is complex number then p"(r) =... 

a)0 b) 3 c)6 y2 

5) If ox) = eiar where a is real constant then... 

ayo'(x)+ iao(x) = 0 b) o'(x)-iap(x) = 0 

c)o'(x)+að(x) = 0 d) x)-að(x) = 0 

6) The series -0 z", z is complex, converges absolutely for. 

b) lz=1 lal<1 d) z>1 a) Z=1 

7) The solution of initial value problem y'= ky and y(0) = 2 is.. 

et b) 2e-kx ke2x d)ke-2x a) 2ekx 

8) The solution of homogeneous linear differential equation of first order is . 

cek* b) cek* c)ae cx d)ae-c* 

9) The equation y' +ay = 0 is.. 

a) Homogeneous linear equation of first order 

b) Nonhomogeous linear equation of first order 

C)Homogeneous linear equation of second order 

ODE-I Page 1 
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d) Nonhomogeous linear equation of second order 

10)If O,(r) and O,(x) are two solutions of y" +a1y' + a,y = 0 then so is .. ... also 

solution 

hc0,(x)+c202(x) b) c,0,(x)+c20'2(*) 

c)c01()+c202(x) d) c0,(x)+c2®'2 «) 

11) The characteristic equation for the equation y'" +ajy' +azy =0 is .... ** 

a)r +ar +a2 br2-a1r - a2 
c)r+azr + a1 d)r-ar + a2 

12) The two solutions (x) = e2* and 02(x) = e3* are 

aLinearly dependent b) Linearly independent 

c)Both (a) and (b) d) None of the above 

13) The Wronskian of solutions Ø(x) = e2x and 02(x) = e3* is .. 

5eX b) 5ex c))-5e* d)) -5e-* 

14) Are two solutions 0, (x) = sinx and Ø2(x) = elx linearly independent? 

a) Yes DnNo c) Both (a) &(b) d) None of these 

15) Solutions of nonhomogeneous second order differential equation y' + a1y + a2y = b(x) is 

a) O(x) = c10,(x) +c2®2(x) + Pp b) O(x) = c^®'i(a) + C20 2 (x) + Pp 

o(x) = C1O4(x) + P d) ox) = c202(x) + Pp 

16) The characteristic polynomial for linear differential equation of order n has degree.. 
a)1 c) 3 d) n 
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